Unit 3 Chapter 2.9 Finding the Equation of a Given Line April 24, 2007
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1. Select the points that will lic on a line with a slope of 3

(a) (2, and(1,1) (b) (4,1 and (6,4) () (6,2) and (3, 4) [d) (—?, Q) and (—%,_2)5
2. Select the correct slope of this line. m \3" - (9
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3 For the equatlon » = -2x + 2, select the statemnent that is true.
3 opc is 2. % tercept is 2. ¢ lme passes through (-2, 2). ((d) The x-intercept is
4. Flnd the equation of the lin: passmg’ ough the points (2, 7) and (4, 8). (‘ 'dx
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4. Find the equation of the line passing through the points (Zl, 7‘) and (4, 8).

step one - calculate rate of change (slope) "m"
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step two - calculate "b" (y-coordinate in the y-intercept) ex. (0,b)
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how? sub 'n\rr'l and a given point (X,y)
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step three - write the complete equation using "m" and "b" that
you calculated
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